				SOUŘADNICE X			SOUŘADNICE Y
NBv				-1170994.735				-575077.444
LB01				-1171006.944				-575069.233
TU02				-1171040.530				-575055.720
NB H2				-1171059.870				-575049.239
LB02				-1171060.819				-575048.921
LB03=ZÚv2			-1171193.660				-575220.219
TU04				-1171195.754				-575222.737
H3(V1)				-1171195.914				-575222.929

ZÚ V2				-1171193.660				-575220.219
TU05				-1171193.468				-575220.379
TU06				-1171165.673				-575243.487
H4(V2)				-1171165.480				-575243.647

NB H1				-1171006.944				-575069.233
TU01				-1171006.246				-575068.196
H1(V1)				-1171006.107				-575067.989

NB H2				-1171059.870				-575049.239
TU03				-1171058.610				-575045.479
H2(V1)				-1171058.810				-575046.074


